Can I solve problems using Division?
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Jackiis calculating 2,240 + 7

He says you can't do it because 7 is
larger than all of the digits in the
number.

Do you agree with Jack?
Explain your answer.

Jackiis incorrect.
You can exchange
between columns.
You can't make a
group of 7
thousands out of 2
thousand, but you
can make groups.
of 7 hundreds out
of 22 hundreds.

The answer is 320

Spot the Mistake

Explain and correct the working.

There is no
exchanging
between columns
within the
calculation.

The final answer
should have been
3138
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| am thinking of a 3-digit number.

When itis divided by 9, the
remainder is 3
When it is divided by 2, the
remainder is 1
Whenitis divided by 5, the
remainder is 4

What is my number?

Possible answers:

129

309
489
669
849

Encourage

219
399
579
759
939

children to think

about the
properties of

numbers that work
for each individual

statement.

This will help
decide the best
starting point.

Always, Sometimes, Never?

A three-digit number made of
consecutive descending digits

divided by the next descending digit
always has a remainder of 1

765 + 4 =191 remainder 1

How many possible examples can you
find?

Sometimes

Possible answers:

432 +1=432r0
543 +2=271r1
654 +3=218r0
765+4=191r1
876 +5=175r1
987 +6=164r3
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